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Y& AE
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
fotr 2.277 0.003 - 0.331 0.012 &
S TR 1.512 0.037 - 0.663 0.083 =
/b= (HCI) 4.545 0.021 - 0.205 0.103 s
mIbE (HF) 0.306 0.001 - 0.100 0.048 s
—E/Ehi (SO2) 15.147 0.005 - 3.575 1.517 =
—&Ei% (CO) 7.578 0.003 - 0.135 0.047 =
FALY) (NOx)
PL=&1E%E (NO2) 30.303 1.143 - 6.325 2.735 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.007 - 0.057 0.013 &
S T 0.756 0.048 - 0.148 0.084 =
/b= (HCI) 0.756 0.063 - 0.138 0.102 s
mIbE (HF) 0.072 0.044 - 0.055 0.048 =
— &b (SO2) 3.789 1.259 - 2.263 1.527 =
—&Ei% (CO) 3.789 0.026 - 0.089 0.048 =
HAY) (NOx)
LIS [EE (NOy) 15.147 1.837 - 4.343 2.750 =
EHE
28 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0054 &
IR R g ) 7.575 x 107 <6.067 x 1010 =
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Y& AF
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.002 - 0.015 0.004 &
S TR 1.512 0.000 - 0.503 0.059 =
FJLFE (HCI) 4,545 0.034 - 0.215 0.115 s
mIbE (HF) 0.306 0.005 - 0.103 0.044 s
—E/Ehi (SO2) 15.147 0.001 - 3.314 1.723 =
—&Ei% (CO) 7.578 0.000 - 0.108 0.015 =
FALY) (NOx)
PL—&AEE (NO2) 30.303 0.773 - 7.933 2.654 =
EHE
(b) [FHEEEH — HYE (HREHRENLAGREE)
(EGA 0.756 0.003 - 0.005 0.004 &
S T 0.756 0.011-0.151 0.058 =
/b= (HCI) 0.756 0.080 - 0.140 0.115 s
mIbE (HF) 0.072 0.037 - 0.052 0.044 =
— &b (SO2) 3.789 1.193 - 2.483 1.721 =
—&Ei% (CO) 3.789 0.006 - 0.045 0.015 =
HEY (NOx)
LIS [EE (NOy) 15.147 1.539 - 5.031 2.659 =
EHE
S8 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() RSN (HET{EBFTER)
7K 0.003789 <0.0003 =
i fe SEHVAR 0.003789 <0.0012 =
E4EEE" 0.0378 <0.0055 &
R R g ) 7.575 x 107 <6.106 x 1020 &
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Y& BE
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.001 - 0.008 0.002 &
S TR 1.512 0.000 - 0.566 0.054 =
/b= (HCI) 4.545 0.027 - 0.109 0.062 s
mIbE (HF) 0.306 0.009 - 0.083 0.036 s
—E/Ehi (SO2) 15.147 0.073 - 3.518 1.829 =
—&Ei% (CO) 7.578 0.000 - 0.090 0.025 =
FALY) (NOx)
PL—&AEE (NO2) 30.303 0.584 - 4.800 2.090 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.001 - 0.003 0.002 &
S T 0.756 0.006 - 0.110 0.053 =
/b= (HCI) 0.756 0.052 - 0.067 0.062 s
mIbE (HF) 0.072 0.030 - 0.044 0.036 =
— &b (SO2) 3.789 1.180 - 2.282 1.818 =
—&Ei% (CO) 3.789 0.011 - 0.041 0.025 =
HAY) (NOx)
LIS [EE (NOy) 15.147 1.122 - 3.349 2.085 =
SR
S8 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 <0.0004 =
i fe SEHVAR 0.003789 <0.0014 =
E4EEE" 0.0378 <0.0064 &
R R g ) 7.575 x 107 <7.068 x 1020 &
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&% BF
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.001 - 0.015 0.002 &
S TR 1.512 0.000 - 0.773 0.089 =
/b= (HCI) 4.545 0.001 - 0.202 0.066 s
mIbE (HF) 0.306 0.001 - 0.101 0.036 s
—E/Ehi (SO2) 15.147 0.020 - 4.208 1.366 =
—&Ei% (CO) 7.578 0.000 - 0.173 0.031 =
HEEY (NOx)
PL=&1E%E (NO2) 30.303 0.542 - 6.576 2.215 =
i E
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.002 - 0.003 0.002 &
S T 0.756 0.000 - 0.249 0.089 =
/L4, (HCD) 0.756 0.039 - 0.129 0.066 =
mIbE (HF) 0.072 0.027 - 0.042 0.036 =
— &b (SO2) 3.789 1.013 - 2.015 1.364 =
—&Ei% (CO) 3.789 0.008 - 0.084 0.031 =
HEY (NOx)
DL & %, (NO2) 15.147 1.062 - 4.246 2.205 =
EHE
S8 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 0.0008 =
i fe SEHVAR 0.003789 <0.0014 =
E4EEE" 0.0378 <0.0062 &
R R g ) 7.575 x 107 <6.857 x 1020 &
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